
SAP ABAP table ICLALAERES {Current Reserves (Settlement Expenses (ALAE) and Losses)}

ICLALAERES

CLIENT [CLNT (3)]

ULAEDBRUN [NUMC (8)]

ULAECNT [NUMC (8)]

COMPCODE [CHAR (4)]

STATE [CHAR (3)]

PRDGRP [CHAR (2)]

REGOFFICE [CHAR (4)]

LINEOFINS [CHAR (10)]

FUNCAREA [CHAR (3)]

REINSCAT [CHAR (3)]

COVERAGE [CHAR (4)]

ACCTSUM [CHAR (10)]

RESTYPE [CHAR (2)]

ICLULAERUN

CLIENT [CLNT (3)]

ULAEDBRUN [NUMC (8)]

 ICLALAERES-ULAEDBRUN = ICLULAERUN-ULAEDBRUN 

0..N

1

TICL020

CLIENT [CLNT (3)]

RESTYPE [CHAR (2)]

 ICLALAERES-RESTYPE = TICL020-RESTYPE 

0..N

1

TICL820

CLIENT [CLNT (3)]

PRDGRP [CHAR (2)]

 ICLALAERES-PRDGRP = TICL820-PRDGRP 
0..N

1

TICL821

CLIENT [CLNT (3)]

LINEOFINS [CHAR (10)]

 ICLALAERES-LINEOFINS = TICL821-LINEOFINS 
0..N

1

TICL822

CLIENT [CLNT (3)]

COVERAGE [CHAR (4)]
 ICLALAERES-COVERAGE = TICL822-COVERAGE 0..N

1
TICL823

CLIENT [CLNT (3)]

STATE [CHAR (3)]

 ICLALAERES-STATE = TICL823-STATE 
0..N1

TICL824

CLIENT [CLNT (3)]

REGOFFICE [CHAR (4)]

 ICLALAERES-REGOFFICE = TICL824-REGOFFICE 

0..N

1

TICL825

CLIENT [CLNT (3)]

COMPCODE [CHAR (4)]

 ICLALAERES-COMPCODE = TICL825-COMPCODE 

0..N

1

TICL830

CLIENT [CLNT (3)]

FUNCAREA [CHAR (3)]

 ICLALAERES-FUNCAREA = TICL830-FUNCAREA 

0..N

1

TICL832

CLIENT [CLNT (3)]

ACCTGL [CHAR (10)]

 ICLALAERES-ACCTSUM = TICL832-ACCTGL 

0..N

1

TICL833

CLIENT [CLNT (3)]

REINSCAT [CHAR (3)]

 ICLALAERES-REINSCAT = TICL833-REINSCAT 

0..N

1


